

NOTICE OF PONTIAC CITY COUNCIL PUBLIC HEARING June 9, 2020 at 5:00 p.m.

THE MEETING WILL BE HELD ELECTRONICALLY

The City Council of the City of Pontiac will hold a **Public Hearing on the Proposed Annual Budget for Fiscal Year 2020-2021 and the City Tax Rate at its Special Meeting on June 9, 2020 at 5:00 p.m.** This meeting will be held electronically pursuant to the Open Meetings Act and Governor Whitmer's Executive Order 2020-75. The agenda of the Special Meeting Public Hearing is attached. Pursuant to Executive Order 2020-75, the Pontiac City Council gives notice of the following:

- 1. <u>Reason for Electronic Meeting.</u> The Pontiac City Council is meeting electronically because Executive Order 2020-75 requires that City Hall be closed to the public on the date of the meeting. Therefore, the public cannot be physically present and provide comment in City Hall.
- 2. <u>Procedures.</u> The public may view the meeting electronically through the following method.

http://pontiac.mi.us/council/pontiacty/index.php

- 3. <u>Public Comment.</u> For individuals who desire to make a public comment, please submit your name and comment in writing to <u>publiccomments@pontiac.mi.us</u> no later than 4:30 p.m. on June 9, 2020. Public comments are limited to three (3) minutes. The City Clerk will read your comments during the public comment section of the meeting.
- 4. Persons with Disabilities. Persons with disabilities may participate in the meeting through the methods set forth in paragraph 2. Individuals with disabilities requiring auxiliary aids or services in order to attend electronically should notify the Interim City Clerk, Garland Doyle at (248) 758-3200 or clerk@pontiac.mi.us at least 24 hours in advance of the meeting.

Dated 6-5-2020, 5:00 p.m. Garland S. Doyle, Interim City Clerk City of Pontiac 47450 Woodward Ave. Pontiac, MI 48342 Phone: (248) 758-3200

PONTIAC CITY COUNCIL

Kermit Williams, District 7 President Randy Carter, District 4 President Pro Tem



Patrice Waterman, District 1 Megan Shramski, District 2 Mary Pietila, District 3 Gloria Miller, District 5 Dr. Doris Taylor Burks, District 6

It is this Council's mission "To serve the citizens of Pontiac by committing to help provide an enhanced quality of life for its residents, fostering the vision of a family-friendly community that is a great place to live, work and play."

Website: http://pontiac.mi.us/council/meeting agendas and minutes/index.php

SPECIAL MEETING
June 9, 2020
5:00 P.M.
165th Session of the 10th Council

Call to order

Roll Call

Authorization to Excuse Councilmembers

Amendments to and Approval of the Agenda

Public Hearing

Proposed Annual Budget for 2020-21 and City Tax Rate

Public Comment

Adjournment

TO:

Sekar Bawa, Treasurer, City of Pontiac

FROM:

Shannon Moore, Required Reports, Standards

DATE:

4/23/2020

RE:

Voted

2020 Tax Rate Request

2020 Headlee Maximum Allowable Millage						
Charter	Operating	11.1699				
Charter	Cap Imp	1.3961				
State Law	Sanitation	2.7923				
Voted	Senior Services	0.4954				
Voted	Youth Center	1.4862				

Truth in Taxation Formula:

Library

Total maximum allowable levy

BTRF x 2019 Levy = Maximum levy possible without hearing.

2020 Base Tax Rate Fraction (BTRF)

0.9816

0.9908

18.3307

2020 2000 / W. Hate Hate Hate Hate Hate Hate Hate Hate				0.0010		
						MAXIMUM
						LEVY
		2019		2020		WITHOUT
		TAX LEVY		<u>BTRF</u>		<u>HEARING</u>
Charter	Operating	11.1699	X	0.9816	=	10.9643
Charter	Cap Imp	1.3961	X	0.9816	=	1.3704
State Law	Sanitation	2.7923	X	0.9816	=	2.7409
Voted	Senior Services	0.4954	X	0.9816	=	0.4862
Voted	Youth Center	1.4862	X	0.9816	=	1.4588
Voted	Library	0.9908	X	0.9816	=	0.9725
Total Levy Possible w/out hearing					17.9931	

NOTE:YOU WILL NOT HAVE TO HAVE A HEARING IF YOUR BASE TAX RATE IS HIGHER THAN YOUR HEADLEE MAXIMUM BUT YOU CANNOT EXCEED THE HEADLEE MAXIMUM.

2020 Possibilities:

Levy at 2020 recalculated Truth in Taxation Rate	17.9931	no hearing required
Levy at 2020 maximum allowable	18.3307	hearing required *
Any levy between these rates would require a hearing.		

Also, you will find enclosed, two partially completed copies of the L-4029.

You will need to complete column 10 or 11 with your millage to be levied.

Return the L-4029 before September 30, 2020 **or before you levy any taxes**. If you are levying any additional specials, please send the appropriate resolutions certifying the levy with the signed L-4029 form.

Hopefully, I have addressed all of your concerns. If I can be of any further assistance, please contact me at (248) 858-0752 or mooresh@oakgov.com.

^{*} Under Section 16 of the Uniform Budgeting & Accounting Act (MCL 141.436), this may be incorporated with the budget hearing.

The City Council for the City of Pontiac shall authorize the following millage rates to be levied and collected on the general property tax of all real and personal property within the City upon the current tax roll an allocated millage of 11.1699 operating; 1.4862 youth center; 1.3961 capital improvement; 2.7923 sanitation; and 0.4954 senior services.

The City Treasurer is hereby authorized to impose a one percent (1%) property tax administration fee for all property taxes due, and a late penalty charge when applicable, in conformance with Section 44 of Public Act 206 of 1893.

Also, in accordance with MCL 141.412 and 141.413, it is respectfully requested that the following resolution be considered at the City Council meeting scheduled for June 9, 2020, in order to schedule a public hearing for the City of Pontiac proposed Budget and City Millage Rate for Fiscal Year 2020-2021: